
Assembly Instructions

child's adirondack chair
330-893-4212 • www.wildridge.com

LCC-113

© 2020

Required Tools:
- Hammer
- 7/16" Wrench or Socket
- #2 Square Drive bit
- Cordless Drill

Hardware:
- (2) 1/4" x 2 1/2" Bolts
- (8) 1/4" x 2" Bolts
- (10) 1/4" Flange Nuts
- (4) 1 1/4" Screws

A = Back
B = Seat
C = Legs
D = Arms

A

B

C

C

D

D

Step 1
Using (2) 1/4" x 2" bolts and (2) 1/4" nuts, attach back (A) to seat 
(B). Repeat on other side.

Step 2
Using (2) 1/4" x 2" bolts and (2) 1/4" nuts, attach leg (C) to seat 
(B). Repeat on other side.

A

B

B

A

C



Assembly Instructions

child's adirondack chair
330-893-4212 • www.wildridge.com

LCC-113

© 2020

Step 3
Using (1) 1/4" x 2 1/2" bolts, and (1) 1/4" nuts, attach arm rest (D) 
to chair back (A). Repeat on other side.

Step 4
Measure 3/4" from inside as shown. Using (2) 1 1/4" screws 
attach arm rest (D) to chair leg (C). Repeat on other side.

D

A

D

B C

Complete

Measure 3/4" 
from inside.


